2A E23
Y CRNSUNE(DSYER/ER)
SRl SIS &S EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
2 137,669,714 176,937,466 A39,267,752
= 568,263
[ 32,436,000
Jl 166,114
[ 104,499,337
C2NSUHEF(NSLER/E2) 128,999,092 132,477,503 N\3,478,411
= 568,263
[ 32,436,000
Il 166,114
== 95,828,715
NN &E 39,283,000 11,939,000 27,344,000
= 22,436,000
[ 16,847,000
CH~FER &2 & - ZETAH(Z D) 31,695,000 6,056,000 25,639,000
[ 21,836,000
= 9,859,000
401 Al HIZ SO 31,195,000 5,756,000 25,439,000
[ 21,836,000
= 9,359,000
01 Al&HI 30,285,000 4,856,000 25,429,000
OEAH~ZE2 E2 & - IFIA 30,285,000
= 21,213,000
= 9,072,000
02 Zeltl 890,000 880,000 10,000
OEAN~ZE2 &2 & - THIA 890,000
= 623,000
< 267,000
03 AlESTHYI 20,000 20,000 0
OZAH~ZE2 E2 & - IFIAL 20,000
403 TtXISHMSAH=01H 500,000 300,000 200,000
02 SIS0t =2 H A A 500,000 300,000 200,000
SH~GE2 &2 & - IETA 500,000
NE~EY2t £2 & - ZFBAH=1) 5,286,000 786,000 4,500,000
= 200,000
[ 5,086,000
401 AIZHIX S0 286,000 786,000 /500,000
[ 200,000
= 86,000
01 AlZ8| 156,000 646,000 A490,000
OXNE~E2t &2 & - ZTEZAL 156,000
[ 116,000
= 40,000
02 Zeltl 120,000 120,000 0
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A EZ21
Y CRISUHE(DEUSR/CR)
SRl SIS &S CHo &)
S - FE - BRI(EH) - AIRAY - BES of v G o HIDE2
oXNg~E2 &= & 120,000
= 84,000
== 36,000
03 AIZ S THYI 10,000 20,000 10,000
OXE~s8g2 =2 & 10,000
403 AXIEHHSAH=201d 5,000,000 5,000,000
02 SJ2Sute=s 5,000,000 5,000,000
OXE~S2 &2 = 5,000,000
SU~IHORE E2 2 - ZHEEBA 786,000 786,000 0
= 200,000
== 586,000
401 AIZHIZ SO 286,000 786,000 A500,000
= 200,000
< 86,000
01 AlZH| 156,000 646,000 490,000
OS0! =2 & - & 156,000
[ 116,000
= 40,000
02 2/l 120,000 120,000 0
OSYU~IH0RF =2 = - 120,000
s 84,000
=S 36,000
03 A2 2 0HYI 10,000 20,000 10,000
OSSO0 =2 & 10,000
403 AXIEHHSA=Z0l1d 500,000 500,000
02 SIS0t etA=2H 500,000 500,000
OSH~I0RE =2 & 500,000
0I2~CtARF &2 & - ZHIAM(Z 1,516,000 786,000 730,000
= 200,000
=S 1,316,000
401 Al HIZL 01| 286,000 786,000 A500,000
= 200,000
== 86,000
01 Al&H| 156,000 646,000 490,000
ollz~ot&2t &2 & - & 156,000
= 116,000
< 40,000
02 Zeltl 120,000 120,000 0
Ooflz~ot&2t &2 & - & 120,000
= 84,000
= 36,000
03 A2 CHYI 10,000 20,000 10,000
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2M 20
Y CRNSYEAS(NSESF/E2)
SRl SIS &S EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
O0I2~5t&2t &2 & - ZTEHIAL 10,000
403 AXIEHMSAH=0ld 1,230,000 1,230,000
02 SIS0t =2 A P E A I 1,230,000 1,230,000
OD|2~ot&2t E2 = - ZEIZAL 1,230,000
Nge &5 89,316,092 120,538,503 A31,222,411
= 568,263
= 10,000,000
Jl 166,114
= 78,581,715
Nge2tel & HEAIAXIJ 2,149,763 1,657,181 492,582
101 @124H| 90,863 88,651 2,212
M ORIMZZ2NSE S 90,863 88,651 2,212
OXYE WSHEAL 2121H] 90,863
201 Ler23 | 547,700 364,030 183,670
01 AtR2te|HI 544,700 361,030 183,670
O=27% & SRML 3 40,000
OLZMEZ 2,000
OAH&I|I=E22 29 2,700
O==2 &t 2 & XA 500,000
02 S3=4gl 3,000 3,000 0
O=ZWSE2s 24Ul 283 3,000
202 04| 10,200 8,500 1,700
01 2K 10,200 8,500 1,700
O=HAY & N2 HRE2 10,200
401 AIEHIZ R HYI 490,000 700,000 A210,000
01 Al&HI 490,000 700,000 A210,000
OXNZE M=SA 24 490,000
403 MR SHHMSAH=01H 1,011,000 496,000 515,000
01 AXISHHA =2 £ 1,011,000 496,000 515,000
OsHEEZ 81X 1,011,000
Soll~tH=2 Nge &2 4,405,000 6,000,000 1,595,000
401 AlEHIZL =Y 4,405,000 4,500,000 85,000
01 A28l 4,000,000 3,890,000 110,000
O=ol~th=2+ X\&e &2E 4,000,000
02 2/l 400,000 600,000 A.200,000
O=2d~tH=2t XNgE =2 H 400,000
03 A2 CHYI 5,000 10,000 /5,000
O=o~t=2t XN &2 5,000
tH=~EHsS2t NSE SaX 4,405,000 6,000,000 A1,595,000
401 AIZHIX S0 4,405,000 6,000,000 1,595,000
01 A=l 4,000,000 5,420,000 A1,420,000
oti=~ths2t N &2 4,000,000
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2A: 20
Y CRNSUHE(DSYER/EZ)
Chel: XE =& (chol:®el)
A - Z - ERI(E) - KIRAY - BaS ol &t G o HIDEY
02 Zteltl 400,000 570,000 A170,000
Ol=~tH=2 NgE &2 400,000
03 Al =20HHI 5,000 10,000 25,000
Ooti=~ths2t N 22 5,000
B~ NSzt Nge s d 4,405,000 13,000,000 28,595,000
401 AIEHIZL SR OHY] 4,405,000 13,000,000 28,595,000
01 AlZHI 4,000,000 12,390,000 28,390,000
OtHE~AsS2t XY =2 4,000,000
02 Zteltl 400,000 600,000 200,000
OHtES~AS2 NEE &2 400,000
03 A2 THYI 5,000 10,000 A5,000
OtfES~AsS2t Nge &2 5,000
7232 AL SEE 4,405,000 13,000,000 /8,595,000
401 AIZHIX 20 4,405,000 13,000,000 /8,595,000
01 AlZHI 4,000,000 12,360,000 28,360,000
O7e~-232t XYL & 4,000,000
02 Zteltl 400,000 630,000 A230,000
O72-2382 NgE =2 400,000
03 A2 CHYI 5,000 10,000 /5,000
OT7e~232t XYL SLZ 5,000
S~2HE2 XY 21 8,855,000 10,000,000 A1,145,000
401 AlZHIZ S 0HBI 8,855,000 8,000,000 855,000
01 AlZHI 8,600,000 7,650,000 950,000
O2s~2HE2t XYL & 8,600,000
02 Zcldl 250,000 340,000 A90,000
OS2t NYE & 250,000
03 A& CHYI 5,000 10,000 25,000
OS2 XYL L 5,000
AE~Mot2t RNLE =t 4,405,000 7,853,000 23,448,000
401 AlEHIYL 201 4,405,000 7,853,000 23,448,000
01 A=l 4,000,000 7,283,000 A3,283,000
O™ S~Ma2t NIYE Sz 4,000,000
02 Zeldl 400,000 560,000 160,000
O™ S~A3a2t XYL & 400,000
03 A& S CHYI 5,000 10,000 25,000
ORS~Mal2t NgE &2 5,000
AME~OERE RIS St 8,805,000 4,000,000 4,805,000
401 Al HIZL 201 8,805,000 4,000,000 4,805,000
01 A&l 8,300,000 3,690,000 4,610,000
OME~0ER XIEE S 8,300,000
02 Zeltl 500,000 300,000 200,000
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2A: 20
M C2NSUHS(NSHER/E2)
ool NYE =5 (crel: &8
A - Z - ERI(E) - KIRAY - BaS ol &t G o HIDEY
OME~0ER XIEE S 500,000
03 Al =2 0HHI 5,000 10,000 25,000
OME~0E2 X2 S 5,000
OE-DA(MLI)2 XYe &y 4,405,000 3,000,000 1,405,000
401 AIEHIZL R OHYI 4,405,000 3,000,000 1,405,000
01 AlZHI 4,000,000 2,670,000 1,330,000
ONE~DH( ML) 2 XILE S Et 4,000,000
02 Zteltl 400,000 310,000 90,000
OE~DA(MR) 2 XL &Y 400,000
03 A2 THYI 5,000 20,000 A15,000
OO E-DAH(HRTH) 2 XILE St 5,000
g2 N &2 505,000 505,000
401 AlEHIZ S 0HbI 505,000 505,000
01 AlIZHI 350,000 350,000
oglg~gs2t Ng: &L H 350,000
02 Zteltl 150,000 0 150,000
OgXY-ax2t NLE =t 150,000
03 A2 CHYI 5,000 0 5,000
oglg~gs2 NYE =1 5,000
FOl~4=22F RSEE =t 505,000 505,000
401 AlEHIZL 201 505,000 505,000
01 AlZHI 350,000 350,000
ORO0|~=2t XYL = 350,000
02 Zcldl 150,000 0 150,000
L0l~4=2F N2 S H 150,000
03 Al< S HHI 5,000 0 5,000
ORO0~22F NYE =L 5,000
ZE~cE2 NEE St 60,000 100,000 40,000
401 AlEHIYL 201 60,000 100,000 40,000
01 A=l 60,000 100,000 A\40,000
OBt E ZAIZES 60,000
AN WAL & - 2& 5,155,000 5,000,000 155,000
401 AIEHIZL 2 OHYI 155,000 2,500,000 A2,345,000
01 AlZHI 150,000 1,890,000 A1,740,000
OAIEZA 150,000
03 A& S CHYI 5,000 10,000 25,000
OZ AL SCHHI 5,000
403 AXIEHMSAH=0l 5,000,000 2,500,000 2,500,000
02 S 2SOt et =& 2 E A I 5,000,000 2,500,000 2,500,000
OXNgEZ M+x3 AEH2E 5,000,000
KN EHEAY AL=E It 130,000 110,446 19,554
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2A E23
Y CRNSYEAS(NSESFR/E2)
ol XY &E EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
207 ARl 60,000 60,000
01 H1E4H] 60,000 60,000
OAt=EJL 60,000
401 AlEHIZ S 0HbI 70,000 110,446 N40,446
01 AlZH| 70,000 110,446 N40,446
OANZEEISEIIES 70,000
JESENXE c2AL2AH=OI=2HEES) 300,000 300,000
401 AIEHIZ SR OHYI 300,000 300,000
01 Al&HI 298,000 298,000
O&AIZAII 298,000
03 Al 20HHI 2,000 0 2,000
OAlE 20HI 2,000
ANYE Ol orM &t 4,500 5,000 A500
201 Ler=23| 4,500 5,000 A500
02 S3=gl 4,500 5,000 A500
OXIZE AtLl Zofitial SH 4,500
A ALDE OeldE #5 50,000 910,000 860,000
308 AtXIEHMSOIE 50,000 910,000 860,000
13 S [2SOHe & EAS A 50,000 910,000 A860,000
OADIE JelfE 829 50,000
A2 PRNS(Z)(HEAD) 5,586,100 2,400,000 3,186,100
401 Al HIZL 201 5,586,100 2,400,000 3,186,100
01 Al&H| 5,586,100 2,400,000 3,186,100
OXYE |8z RZIMA(HEH 5,586,100
WEAMD 2 R N (AIZ)(HEA) 611,000 500,000 111,000
403 MR HHMSAHE01H 611,000 500,000 111,000
01 MHXIHHA =22 611,000 500,000 111,000
OANZE WSAD Z2 2 N (HE) 611,000
SEXZE AXIA(E)(HEAY) 840,000 560,000 280,000
401 AIEHIZ SR OHYI 840,000 560,000 280,000
01 AlZ28| 840,000 560,000 280,000
OXYE sMUItz EXI(ME) 840,000
SIMNIZ EXAIG(AIZ)(HEAIY) 700,000 840,000 140,000
403 XM SAH=01H 700,000 840,000 140,000
01 AR A =2 £ 700,000 840,000 140,000
OAlZE 3XWXZ SEX|(XE) 700,000
NEMW ALA(=1) 4,000,000 0 4,000,000
= 2,000,000
& 2,000,000
401 AlZHIZ S OHbI 4,000,000 0 4,000,000
[ 2,000,000
= 2,000,000
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2A E23
M CRISUHE(DSYSR/CZ)
ol XY &E EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
01 Al&HI 3,990,000 0 3,990,000
OMHU L ALEAY 3,990,000
= 2,000,000
< 1,990,000
03 AIESTHYI 10,000 0 10,000
OKNSEHL ALALH 10,000
SoHeH HiRIF F2Ee2 =& (21) 10,400,000 3,783,000 6,617,000
= 8,000,000
£ 2,400,000
403 X SHMSA=01H 10,400,000 3,783,000 6,617,000
= 8,000,000
== 2,400,000
01 A= 2L 10,400,000 3,783,000 6,617,000
OSoligt BIZot &z x4 5,200,000
= 4,000,000
< 1,200,000
oSt S84 22 xd 5,200,000
[ 4,000,000
= 1,200,000
SN SMESE2 DEAXR S24L(=21) 4,940,000 11,780,731 26,840,731
401 Al HIZL 201 4,940,000 11,780,731 26,840,731
01 Al&H| 4,800,000 10,943,023 N\6,143,023
OSSN =MESIEZ DEMIIT 2L 4,800,000
02 Zeltl 130,000 830,000 700,000
OsAM =sMEIEZ DYMXT =204 130,000
03 AIESTHYI 10,000 7,708 2,292
OsAM =MESIEZ DHMXIF 2L 10,000
SN SMESIEZ MSHIF S2HE(21) 1,112,000 10,896,000 29,784,000
401 Al HIZL 201 1,112,000 10,896,000 A9,784,000
01 Al&HI 903,000 10,391,000 /9,483,000
OSMH =MESEZ MSHAIT S22 903,000
02 Zeltl 199,000 495,000 296,000
OSA =MESIEZ MatX7 S200& 199,000
03 Al 2 THHI 10,000 10,000 0
OsAN =sMEST2 M7 =204 10,000
SN SMBSIER AT E20H4(21) 7,090,000 12,542,000 A5,452,000
401 AIEHIZ SR 0HYI 7,090,000 12,542,000 A5,452,000
01 Al&HI 6,690,000 11,947,000 A5,257,000
OsAN SMESIERZ ASKI7 E20H4 6,690,000
02 Zeltl 390,000 580,000 190,000
OSM =MESEZ MSKF 200 390,000
03 A2 2 0HYI 10,000 15,000 /5,000
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2N =2
M CRISYHE(DEUSH/EZ)
ol XY &E EER=E)
SA - ZE . BR(3) - HRAR - BES of v G o HIDE2
| OSA sMEsiE2 MgXP E2He 0,000
=2 MAH=TE)(2D) 276, 8%4 0 276,854
= 138,442
= 138,442
401 AIE2BIXL S THYI 276,884 0 276,884
= 138,442
= 138,442
01 AlZHI 276,884 0 276,884
Ox2 Ma=7(%) 276,884
2 138,442
= 138,442
2 Mals2 (A2 (=52) 644,731 0 644,731
= 429,821
S 214,910
403 MXISHHMS 201N 644,731 0 644,731
= 429,821
= 214,910
01 MHXIHH A 22X 644,731 0 644,731
O=2 MH=P(AIZ) 644,731
= 429,821
= 214,910
loTJIE8t =2 AFLH| FAFSMA 2=(=12) 166,114 130,000 36,114
Jl 166,114
308 AIXIHHISO0IH 166,114 0 166,114
Il 166,114
01 MAHBSEERS 166,114 0 166,114
OloTIgt E2ZLL AAFAMH 75 166,114
) 166,114
UEE2Y A 400,000 0 400,000
22 HED|E 100,000 0 100,000
401 AIE2HIX S CHYI 100,000 0 100,000
01 AlZHI 100,000 0 100,000
ORMI3Xt NEE2 ALHE WS 100,000
Iz 24| 300,000 0 300,000
401 Al&2HI L= Chb| 300,000 300,000
01 AlZHI 300,000 300,000
OAEIIE U BIZERE B 300,000
éﬂiﬁalﬁﬂel SEH 2A/(LS3AH/NLHE - HEX 1,992,600 2,532,000 A539,400
oeFd UH=N 1,992,600 2,532,000 /539,400
QIZLET E2AMY A 1,992,600 2,532,000 /539,400
201 LetEaY| 180,000 200,000 /20,000
01 Al 2tefdl 180,000 200,000 A20,000
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2A:

S22

3 MEelATe e85 2e|(LESSHY/NLSE - WEHAH)
ool o2Re (MR (Shol: % 2)
RA B - SRS - MRAR - B ol &t G o HIDEY
ORIZIEXN E2AMY 2 Ttz & &S
= 180,000
202 O] 3,600 3,000 600
01 =L 3,600 3,000 600
ORIZIEX E2MY F& 3,600
308 AHXIHMS0IA 279,000 399,000 120,000
01 AXSHHBLELS 279,000 399,000 120,000
O0IANg 22t S SUHAIY 279,000
402 SIZERHE0I M 1,530,000 1,830,000 300,000
03 2I2+RAETAIS I 1,530,000 1,830,000 300,000
OllAEHE 0 Sig ZH =424 1,530,000
Y 2IZHI(S2) (DIEHIIE 41,144 35,285 5,859
=&l 41,144 35,285 5,859
FA2Z Jl=3Hl 41,144 35,285 5,859
201 23] 28,584 24,621 3,963
01 AtR2telbl 28,584 24,621 3,963
SA2Y AtR2tel] 28,584
202 04| 8,360 6,464 1,89
01 =LHA LI 8,360 6,464 1,8%
A2 =Wl 8,360
203 g2l 4,200 4,200
04 EA2EYERFAH 4,200 4,200
©25¢! 0lat 4,200
HRes(E2)(NSHER/E2) 6,636,878 41,892,678 N35,255,800
BEXE 6,031,878 8,430,678 22,398,800
NSSE SEI(XZ) 6,031,878 8,430,678 22,398,800
311 XL S0l AHare 444,378 583,178 138,800
05 JIEtXH SO0l Xtatat 444,378 583,178 138,800
O'154 XLE XX (SXIIS) 316,29%6
©'16 XIYE SII (XIS AM) 128,082
601 A= =4e 5,587,500 7,847,500 2,260,000
05 JIEt= LRI S =48 5,587,500 7,847,500 22,260,000
O'154 NLs XX (SXIS) 2,000,000
©'16E XIUS SIE (XS AM) 3,587,500
LIS HHKIZE 605,000 33,462,000 232,857,000
ANge & 605,000 32,535,000 231,930,000
705 Ol==&dcl=ate 605,000 32,535,000 231,930,000
04 Al - SXISHE D= 0l== 01 Ktat et 605,000 1,535,000 930,000
O'20d N =2 605,000
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